BESEBEE210 22->7AF-2-VF7/7EFP3R

BHERETCOREEXMIMLDMHILH -BELEANDOHEE - BE=]1 (FF4FEE)
(E+nlk x 10", I ZIXE+31E X 1000DEKRTT . )

HEH = (keg/5F) BE=Ekke/F)
#BE TEA~O HH=-
R | #EFESL | KEA~ | KEA L - HHE TIKEN | BEY BEE wEE
a—Fk DHEH | OHEH | " =1} DHEHE | kb &Et =
T8I

1 |deiEE 5.6E+3 5,600.0 5,600.0
2 | BEHRR 3.4E+0 3.4 34
3 |EFE

4 [EWE

5 |MHE

6 [ILUZE

7 |EER 5.0E-1 0.5 0.5
8 |ZWE 6.9E+0 6.9 6.9
9 |HEKRE

10 [HEE

11 |BER

12 |FEER 1.0E-1 0.1 1.0E-1 0.1 0.2
13 |REE 2.4E+3 2,400.0 2,400.0
14 |[#FIE 2.9E+1 29.0 29.0
15 |#FiRE

16 |[EWLE

17 _|RBINE

18 |[fEHE

19 |ILBE

20 |RHFE
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22 |EEE 2.5E+3 2,500.0 2,500.0
23 |BHIE 5.1E+2 510.0 510.0
24 |[ZEE 2.0E-1| 9.0E-1 1.1 1.1
25 |#EER

26 |[TRHEDAF 8.0E+0 8.0 2. 1E+2 210.0 218.0
27 | KBRFAF 1.4E+3 1,400.0 1,400.0
28 |EER 6.6E+2 660.0 3.6E+1 36.0 696.0
29 |&ZRER
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31 |EmE 2 4E+3 2,400.0 2,400.0
32 |BiRE

33 |[EWLER 7.4E+2 740.0 740.0
34 |[LER 4.0E+3 4,000.0 4,000.0
35 |[WAOR

36 |[EER 3.4E+3 3,400.0 1.2E+1 12.2 34122
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38 |BRER 1.2E+3 1,200.0 1,200.0
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40 |fEEE

41 |#EER 1.4E+3 1,400.0 1,400.0
42 |RBE
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44 | KHE 54E+2 540.0 540.0
45 |=igE 6.0E+3 6,000.0 2.5E+2 250.0 6,250.0
46 [ERBE 2.3E+3 2,300.0 2,300.0
47 [;hiBe

& [F 3.4E+4 33,661.5 1.4E+3]| 5.5E+2 1,945.8 35.607.3
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